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1) Share6intheratio 1.2

2) A number was shared in the ratio
2:10. The smaller share was 14.
What was the larger amount?

3) f1/f8

Answer: Answer: Answer:
4) (11110 5) A number was shared in theratio 6) Share 6 in theratio 2:4
10:5. The larger share was 18. What
was the smaller amount?
Answer: Answer: Answer:

7) Share 16 in the ratio 10:6

8) Share 10 in theratio 3:7

9) A number was shared in theratio
8:1. The smaller share was 18. What
was the total amount shared?

Answer: Answer: Answer:

10)  Sharel4intheratio 9:5 11) (n9)19 12)  Share10intheratio 2:8
Answer: Answer: Answer:

13)  Share9intheratio 6:3 14) nl/nll 15)  Share8intheratio 1:7
Answer: Answer: Answer:
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16) (11519 17) n%/ nl6 18) (518)3
Answer: Answer: Answer:

19) A number was shared in the ratio 20) (9720 21) A number was shared in the ratio
6:4. The smaller share was 12. What 1:5. The larger share was 10. What
was the larger amount? was the smaller amount?

Answer: Answer: Answer:

22) (210)14 23) n®/nd 24) A number was shared in the ratio
2:8. The smaller share was 20. What
was the larger amount?

Answer: Answer: Answer:

25) 519,515

26) A number was shared in theratio
2:10. The smaller share was 16.

27) Share 20 intheratio 4:1

519 What was the larger amount?
Answer: Answer: Answer:
28) §4+ £10 29) 3l/3° 30)  Share20intheratio 9:1
fll
Answer: Answer: Answer:
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31) 511+ 53

32) A number was shared in theratio
10:8. The smaller share was 8. What
was the larger amount?

33) gl0x g19
g3

Answer: Answer: Answer:
34) 6ld+ 68 35) (7Hy7 36) A number was shared in the ratio
10 6:10. The smaller share was 18.
6 What was the larger amount?
Answer: Answer: Answer:

37) Share 10in theratio 4:1

38) Share 10 in theratio 8:2

39) A number was shared in theratio
1:2. The smaller share was 14. What
was the total amount shared?

Answer: Answer: Answer:
40) A number was shared in theratio 41) A number was shared in the ratio 42) 19 9
8:2. The smaller share was 15. What 3:6. The smaller share was 12. What 15
was the larger amount? was the larger amount? s
Answer: Answer: Answer:
43) A number was shared in the ratio 44) (f19)3 45) P 0
8:4. The smaller share was 18. What
was the larger amount?
Answer: Answer: Answer:
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46) (o1h13 47)  Share13intheratio 3:10 48) 613+ 615
620
Answer: Answer: Answer:
49) 515+ 57 50) B3 gl4
gl1
Answer: Answer:
Total: /50
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1)2:4
8)1:9
15)1:7
22) 2140
29) 38
36) 30
43) 36
50) 6
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270
9) 162
16) 1285
23)nt
30)2:18
37)2:8
44) £57

3)f7
10)1:13
17y ml2
24) 80
31) 514
38)1:9
45) 518

MATHS WORKSHEET

Answers:

4) 1110
11) n17t
18) 54
25) 515
32) 10
39) 42
46) 9143

5)9
12)1:9
19) 18
26) 80
33) 826
40) 60
47112
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6)1:5
13)1:8
20) 140
27)4:16
34) 612
41) 24
48) 68

71:15
14) 10
21)2
28) f3
35) 717
42) s13
49) 522
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